Efficiency vs P,

- 0.2

ERRTE SRR N — S—

> -
2 0.16F
o

0.14F

e

0.02F

0.12f--wwrrerdeneeeeeees R S
1 SUNE TS U —
0.08f----+++ B S S
0.06---wre-mieeeeeneees S A
0.04f === ARRERRERERES ------------ ------------

........................................

.........................................

Ratio

o
©
a

[y
TTTT] T T
e
*

=
o
iN

1 10 . Gedf’

—=— DQM_mKkFit_TToriginal
—e— DQM_mkKFit_TT_JanUpdate-noErr
—— DQM_mkFit_TT_JanUpdate-noErrlH

= 0.2

O S R N W A
gl

(C) r
$0.16f
(8] L
£0.14F
(]
0.12
0.1F
0.08F
0.06
0.04
0.02F
2.0

Ratio

1% -

0.95'3

4]

Andt

9

Efficiency vs ¢




	Contents
	Page 1


